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feroqft:
1. =9 WI-T9 & I e 7 et a7 s ot uar wrom & Sifor, oeeg asft 9 1
HTEAH T BT EAT AT |

2. TATATTHFTA 6 TT & | STH & Thral 4 =TT % L AT | Heh SF A 3 |
Note:

1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

1. THHEATH 6 TFH T3 & LT T qTEdT HT AA-[==07 I 97531 H o0 |
Describe the character of Parvati in your words, according to 5% canto of
Kumarsambhavam.

2. THALT & TIH T AT fawrereg ax feoqoft ferfer |

Write a note on the content of the 1% Canto of Raghuvansham.
3. e & ATHA “CEIG A" FT T AT |
Describe the “T@q&Td” according to Bhartrihari.
4. TATET =l “QTae AeAT” T TRTTars(= [FH & TH & & AT T F0 A9 |
Describe the “arm&= =Fer=1” of Duryodhana according to 1% Canto of Kiratarjuniyam.
5. FIerare st Qreft 9¥ e forfe |

Write an essay on the poetic style of Kalidas.

6. Y@ HEhd HIHhA] I TH1eT STerT |
Through light on the main Sanskrit Mahakavyas
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Instructions for Candidates

1.  Answer any 4 questions.
2. All questions carry equal marks.

3.  Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper.

wanfiat & foo fader

1. Tl IR URaAT & 3T oY |
2. g3 woaT & 3 AT ¢ |
3. 9T @ 3R Y 3ryar 3l AreyH & foer S Hehel § Weg T el &

I Th & ATEYH H g =T |

Q1. (a) Anincrease in the minimum wage will increase the rate of teenage unemployment. Is
this a positive or a normative statement? Explain.

(b) Why does a trade-off arise between incentive and equality?

(c) Explain why the production possibility curve is concave to the origin. What would be the
shape of PPC if the opportunity cost of commodity Y in terms of commodity X is constant?

a) “gAqH Holql H Jef ¥ fruR ey dr e & Jefr gefll I s
HhRIcHS hUT § IT Teh YIHIOIh HUT ? SITEAT il

b) WG JAT AT & a1 Ush REW  SIUR 3cUesl FAT BIAT &7

c) AT F & IculeT HHGe ash Hel &g 1 RE Acdiel FT g §7?
3cdTesT gHTIAT doh Eﬁrﬂrajﬁrwaﬁ?ﬁaﬁaﬁrxa?ﬂaﬁﬁaﬂvaﬁr
TR T TR &




Q2. (a) Define dead weight loss of a tax. How do the elasticities of supply and demand affect
the deadweight loss of a tax?

(b) Market demand function is given by

Qd =180-2P

Market supply function is given by

Qs=-15+P
Determine producer surplus, consumer surplus and total economic surplus at the equilibrium
price. Calculate the DWL that would result from a price floor imposed at a level of 72.

a) &Y P FI-HR gy hT IR HY| Yfed TUT AW T AT AT FA-HR
gifel 1 fehd Jeh JeATidc shicl g?

b) SR HET ol 38 YhR §
Qd = 180 - 2P

SoR qfd thelel 38 YR §
Qs=-15+P

HJelel HHAT W Scuresh AT, SYHIFAT HAAY FUT For 3 AT fyefiRe
HITGA| T HT JJ-HR g AT 0T H S fh 72 & TR W @MU 0 HAe=Tcq#H
AT F 3cTesT gram|

Q3. (a) Use indifference curve to show how an individual decides to allocate his/her time
between work and leisure. Will he/ she necessarily work more if the wage rate rises?

(b) Suppose that the government imposes a binding price floor in the wheat market. What
would be the effect of this policy on the quantity of wheat bought and sold? Would the total
revenue of the farmers increase or decrease? Explain.

(c) Qd = 90 — 6P
Qs=-20+4P
What is the elasticity of demand and elasticity of supply at the equilibrium price.

a) 3CTHIdT dsh T 3YTET Ig &A= & forw Y fF P cafed w7 qar raerr
& o YT FAY hE YR AT T g1 e Asigl X ¢ Sl &, oY
FIT 9§ OIS 7 J 3 F1F FHEm?

b) #HI NHAT fF WHR A TR A Th SEAFN AFATH Hed e &
gl dAr 99 ¢ AG B AET W 38 AT F FAT GHIG IS fRATAT AT

Fel TS Tl AT TSI ATEAT HX |

c) Qd=90-6P
Qs=-20+4P
HcJolel AT I AT AT Gl T ofrer 21 gref?




Q4. (a) Why do firms enter an industry when they know that in the long run economic profit
will be Zero? Under what conditions will a firm exit a market? Explain.

(b) Using the concept of economies and diseconomies of scale, explain the shape of a firm’s
long run average cost curve. How are the short run average cost curve related with the long
run average curve?

(c) For the following cost function TC = a + bQ — cQ? + dQ3, determine the equations for TFC,
TVC, AFC, AVC, AC, MC. a,b,c,d> 0.

a) BA frdl 3cTNT A FIT 99U HAr § Fafh 3og gar g1 & fF e A
MR omer L g fohel aRTEUfAET & #IS %A oIk & aeY HAevelair?

STEAT |
b)WﬁWHﬂTW@fWWWW@,WW&%
SrderTelleT 3T JETd d% & TR ST SATEAT HY| NeUdTeld ad orerd

gsh, ardTele 3Hd aed a% & fF9 YR gafaa &2
¢) AT Bl TC=a+bQ-cQ2+dQ3 & TIIT TEC, TVC, AFC, AVC, AC, MC
F'I'I?faw_i'?lﬁa,b,c,d>0.

Q5. (a) Define price discrimination. Can perfect price discrimination remove the dead weight
loss associated with a monopoly?

(b) How does a monopolist’s quantity of output compare to the quantity of output that
maximizes total surplus?

(c) Calculate the dead weight loss of a monopoly with a demand curve, P = 12 — Q and the
marginal cost curve, MC = 2Q, where P is the per unit price and Q is the quantity.

a) ®IAd fasie @ AR | Far Qo HiAd e TR & SE fdaar
gTfeT T g X Hehel &2

b) Teh THIURRY 3cUles T AT, Fel HAAT &I AfAKATH el dTel IcUreed
1 AT & g JHR Jelell HT &7

c) Ush HET Tk P=12-Q IUT WA oFEd d% MC=2Q% Y THIUHR &
HA-AR glfa & a10Ter Y, STl P 9fd 3$ foAT aar QAT Bl

Q6. (a)An increase in the retirement age of workers leads to increase in the supply of labour.
Discuss its impact on the Equilibrium wage rate, Employment and Value of marginal product
of labour (VMP,).

(b) Derive the long run supply curve of a decreasing cost perfectly competitive industry.

(c) The firm’s production function is as follows:

Unitof | 1 2 3 4 5 6 7 8 9
labour




Unit of | 20 40 56 68 78 86 92 96 96
output

a. Calculate the marginal product for each additional worker.

b. Each T-shirt sells for $5. Calculate the value of the marginal product of each worker.
c. Suppose the wage rate is $50, how many labour the firm will hire?

d. What happens to this demand curve if the price of a T-shirt falls from $5 to $4?

a) A&l & YaTAgia S 3T & et § #7 & MY H dofor gicl g1 SHeT
Aol Al &, SHIR 3R WATT 3cde & Hed (VMP) T IS dlel F8TT
T TET |

b) T AT atell qoiafaett eier &1 Sl qfict T @efd &

c) ®H & 3clea Belel HAFIIAR

Unit of | 1 2 3 4 5 6 7 8 9
labour
Unit of | 20 40 56 68 78 86 92 96 96
output

a) 9% faRad sfAe & v g 3care i aoEr Hi

b) Ycdeh &€ $5 W T S Bl YA AfAF & WAT 3cUG & Hed H
IOTAT H|

¢) A NAT 6 FAIgY &I & $50 &, o A fhcdal HfAH &I HH W @i

d) Ifg E-qE Fr AAT $5 T $4 I PR AT dr 59 AR Toh W FAT TAG
g3aT?
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Instructions for the candidates:

1.

4.

5.

Answers may be written either in English or in Hindi; but same medium should be used
throughout the paper.

There are six questions in all. Attempt any four.
All parts of a question must be answered together.
All questions carry equal marks.

Use of simple calculator is allowed.

TRIERI o Srge

1.

1) (a) Consider the function f(x) = {

w@ﬁmﬁaﬁﬁﬁnwaﬁ%muﬁﬂmﬁwﬁmwmwm
ST MR

SHUY-TA H : Uy 3| forgl IR Uil & IR aifor|
T U9 & g YR & IR TP 91 faw o =nfgd|
Tt Uil & SRISR 3 &

YR HAH e BT TR A ¢ |

—V4—x% for—2<x<0

x2—4 for x>0
(i) Find the domain and range of f(x)

(ii) Sketch the graph of f(x)

(iii)  Solve f(x) =0and f(x) = -3

(iv) Find k if f(x) = k has no solution and one solution respectively.



(b) For the function y = x2, find points A and B on the graph of f(x) such that the tangents at
those points pass through (0, —1).

1
1-r)?2

(c) Show that ¥2 (i + 1) 7 = if || < 1. Also check if the sequence converges?
(10, 4.5, 4.25)

2) (a) Solve the following:

i =<1

xX—4
(i)  5x%—6x —3 < |8x|

(b) Let f (x) = 1 + 4x? . Find the values of x that are necessary and sufficient to warrant that
f(x) > 10. Also, what values of x are neither necessary nor sufficient to warrant that 1 +
4x? > 10?

(c) Find the asymptotes of the following functions (any 2)

. 1
O Y=o

i) y=In2-x%

_ xZ—4x+3

(i) y=

xX—2

x? for 0<x<2

(d) Sketch the graph of the function f(x) = {6 —x for 2<x<6

Q) Check if the function is continuous at x = 2

(i) Check if the function is differentiable at x = 2

(5,4, 4,5.75)

3) (a) (i)The equation ) _ y = x defines y as a function of x. Find Z—i’ and elasticity of

9')
g’ (y) with respect to x.
(i) G is a composite function of f and g such that G (x) = g(f(x)). Given that f and g
are concave functions, what condition on g would ensure that G(x) is also concave
provided that f and g are differentiable.

(b) Use Taylor’s formula with a = 0 and n = 3 to find the cubic approximation of f(x) = 1T1x

at x = 0. Also, give an upper bound for the magnitude of the error in the approximation when
|x| < 0.1.

(c) Graph the function f(x) = V9 — x2 . Check whether the function is differentiable on the
interval [-3, 3]. Determine if there are values of x which satisfy the conclusions of the Lagrange
Mean Value Theorem for the function on the given interval.

3x+2|x|

(d) Givenf (x) = . Show that limit of the function as x tends to 0 does not exist.
5x—3|x|




(5,5, 5, 3.75)
4) (a) A jeweller bought a precious sapphire whose value at time t is given by the function

V() = VOeO-S\E, with V, being the initial value of the sapphire and t being the time. Show
that value of the sapphire grows overtime but at a declining rate. Find the rate of growth of
the value in 10 years. Also, show that optimal time t*, where the present value of the
sapphire is maximized, is independent of the initial value. Assume a continuous discount
rate of 8 per cent. Verify the second order conditions as well.

(b) Find numbers a and b such that the graph of f(x) = ax® — bx? + 4x — 2 passes through
the point (1, —3) and has a point of inflection at x = 2. Also find the intervals over which
the function is concave and the intervals over which it is convex.

(c) The total variable cost of a monthly output of x tons by a firm producing valuable metal is
4 §x3 — 3x% + 50x and fixed cost is ¥ 30000 per month. Draw the AVC curve. Find output
for minimum AVC.

7,6.75,5
5) (a) In atwo-sector economy, industry | uses 10 paisa worth of its own product ar(1d 60 pais;
worth of commaodity 2 to produce a rupee worth of commodity. Industry Il uses 30 paisa
worth of its own product and 50 paisa worth of commodity 1 to produce a rupee worth of
commodity. Final demands are 21100 billion worth of goods from industry | and X 2200
billion worth from industry I1. Write the input output matrix and solve for the equilibrium
output levels of 2 industries. Also find the primary input requirements.

(b) Consider the system of equations
x+y+z=3p
x+2y+3z=5p
x+2y+az=5f
For what values of a and £ does this system of equations have
Q) a unique solution,

(i) no solution and
(iii)  infinite solutions.

(c) Given that {u, v, w} is a linearly independent set of vectors in some vector space V, prove
that:

0] the set {v, w} is linearly independent.
(i) the set {au, bv, cw} is linearly independent where a, b and c are scalars.

(iii)  theset{u + v,u — v}is linearly independent.

(6.75, 6, 6)
1 k 1
6) (a) Find the set of vectors that are orthogonal to the three vectors [0] \ 1 ] 2k
0l L—kl 13k+1

for all values of k.



5—a 2 1
(b) Find the rank of the following matrix A=| 2 1—a 0 | forall values of

1 0 l1-«a
a.

(c) Given two matrices A and B, if AB = BA then argue that A and B must be square and
of same dimension. Construct an example to illustrate that the converse is not
necessarily true.

(d) Consider the given system of equations:

x+3y=1
2x +y=-3
2x +2y =k

(1) State a necessary and sufficient condition for a system of m equations in n
variables to have a solution.

(i) If k=0, what can you say about the solution of the given system of
equations? For what value of k does the system have a unique solution?

(ili)  What are superfluous equations? Are there any superfluous equations in this
case? Also comment on the degrees of freedom.

(5, 4, 3, 6.75)

1) (a) BT f(x) = {‘“4"‘2 for=2=x =0 @ fggR AR

x2—4 for x>0

() f(x) I G URER J1d Diorg|

(i) f(x) BT 3G TS

(il £ () = 0T f(x) = —3 DI §A DI

(iv) TS PH: £(x) = k BT DTS gl Te1 & TUT Th g1 & ol k B J1d BTl

(b) BT y = x2 BQ, f(x) P 3RW W U fag A T B 1A Piforg fom R w=l ¥@mg (0, 1)
Y ToRd! 5|

(c)mfsn%zgzo(i+1)ri=(l_lﬂz g |r| < 1. 39 1 Bt Wt Si9 ST s o1 78
3IhH YT BT 82

(10, 4.5, 4.25)

2) (a) FUfcIRed &1 89 PIfoTT:
(i) xl: <1
(ii) 5x% — 6x — 3 < |8x|

(o) A AT fb Fx) = 1+ 4x2.
x & d HH 1T ST F £(x) > 10 B 3MaT0H I TG G| x F DA A 1 + 42 >
10 ¥ T a1 3TaF § 7 81 gaIa?



() FafaRad wer! o sF-aafRiar I1d Sifve (fB=i 2 8Q)

. 1
WY =2

(i) y = In(2 — x?)

xX%—4x+3
x—2

(i) y =
2

_( x* for 0<x<2 3IRG §1ZY
(d)f(x)_{6—x for 2<xS6$r |

(i) ST oY T 1 T8 e x = 2 TR Iadd §
(i) SITd PIFTY & 1 I8 B x = 2 W THT g
(5, 4, 4, 5.75)
3) (a) (VEHIERI L gy = x, y BT x F TH A & IR TR URHIT B 31 2 9

g')
g'(y) B x & U A J1d iy
(i) G, £ T g T U WG B § I 6(x) = g(f (). i Te feargan g &
£ g I HE g, al g TR DI T T8 JAT S0 b 6(x) 1} sraqar g, afe £
g g 3ghAT B

()a=0dn = 3$wuéw$ﬂgmwmf(x)=i Pl x=0TW
TS AiAdbed J1d DY TS |x| < 0.1 8 d 39 Gaeed § Ffe & uRAT0 & FUA
a1 ot Jarsu|

(©) A f(x) = V9 — x2 P R HIFL | S HIOY fob 1 T8 Hed, 3I=RTA
[-3, 3] R THTAT g1 FTd PO fb T x & TF PIs 71 8 S fb fou e srRrrar
S & T A Y9G & s &l TP R & |

(d) e gan & b £y = 222X Zxifgu fob x & 0 Y 3R Ugd 811 & R A 39

5x—3|x|

o &1 T BT T T8l 5
(5, 5, 5, 3.75)

4) (a) T SEX A U Bl iy Weiel 8 e 99T + R g Bad V(t) =
V,e®SVE GRT 0ad fordT SITaT 8, 58T v, 39 -ad &1 URMRYS e 81 <uizu f
e &1 U THT & 1Y Fgdl & IR g &2 ¥ | 10 a8 § 395 Jod & gia
R F1d Sifoe| g8 it <R o 3paw 99 v+ 59 aw &1 gadH Rard 3o
3ifferad BIaT 8, URMNS Yo ¥ W+ gidl ¢ | T difoTe fb Tdd 9 &1 &x 8
gfa=rd 31 fgcdta % &1 =ral & of genfud Sifor|




(b)éﬂ’@’lﬁ ad bﬂﬁmﬁﬂ:{%ﬂf(x)=ax3—bx2+4x—2$[31ﬁ@ﬁ7§
(1,—3) ¥ TORAT § TUT x = 2 TR 3T Ad-Rac farg g1 I SRIA J1d DITorg
59 g8 B sraad g1 3 3RTd H J1d Fifore o a8 e I9d B

() DA YT BT ST HRA aTelt U HH & x T HINID SdIE B $d TR AN
2 2% - 3¢ + 50x 8 U {RR AR % 30000 UfHATE 81 AVC I i 3RFAd Pl

IATH AVC TR IdTG 1 AT JTd Hifvid |

(7, 6.75, 5)

5) (a) U fgaea srdoqawut & IENT /U 30 & S{UAT a%] & IG5 3T+ 10

O & 3T IUTE T 60 T BT I 2 BT STANT HRal ¢ | SANT /TH UL I3

I & 3G o 30 UH & 304 IdIE 9 50 UH B a¥g 1 BT ITANT Hall g

3{f~TH ART 21100 3RT FUY B SGNT [ DI IXE qUT T 2200 DI I /DT awqd

g1 Td fid Bfce fafae aur 39 aF TN & I IdTE Wkl &g 8d
DIOTE | TTUTHe ST &1 Sagdd i 31d B

(b) THIHRUT Hbr™

x+y+z=3p
x+2y+3z=5p
x+2y+az=5f
IR foaR SINUI « T g & fobT AT 8 39 g &1
(i) U gl g grm
(ii) TS B TEI BT, U1
(DEESEE
(o) Fea g3 & fob {u, v, w}, Tl TR Y v H ¥Wepet: Tehol W= b1 T q=
g, T g sifore f:

(i) T {v, w} WP Wad gl
(ii)W{au,bv,cw}mtwgﬁlﬁa,bac \?'iﬁ'QT%I
(ifi) T {u + v,u — v} VAP Wad g

(6.75, 6, 6)

. (amwmﬁmwmmmwmumgeﬂqm[é] ['i]
0 -k

1
2k
3k+1

& TAd ¢ |




5—a
O eFat TR Az| 20 1oa o |H@R TR

1 0 11—«

A AT 4T s g 819l A8 = AT ST T B db HRUfF AT BT EH
T quUT FAH famrse & g1 A1t | T Iarexul St Teradl ¥ gRIisU foh 39T
fauRid ¥ g1, Ug Sfa<as T8l &
(d) Frafafea e Fer | fdar Sifve:

x+3y=1

2x+y=-3

2x+2y =k

(i) n TR H m THHIUT & FH™ & 5 BT 3T 811 8 HTIID 9 T [ DI
fafaui
(HafC k=0 MIMURT MU ITHFT PRI FsdF IR AR Hg Ihd a2 k B
fob Ol B 39 R &1 U sifgdia ga gm?
(iii) Stfafed gHRr 1 B1a 82 T =9 fRUfa §f 1 sifafked it 82 Wia=a
pifedt R +f fewoh Sy

(5, 4,3, 6.75)



SETA

Unique Paper Code: 12031101

Name of the course: BA (Hons) English

Name of the paper: Indian Classical Literature

Semester: | (Admissions of 2019)

Maximum Marks: 75 marks

Time Limit: 3+1 hours (one hour reserved for downloading of question paper, scanning and

uploading of answer papers)
Attempt any THREE questions. Each question carries 25 Marks.
ALL QUESTIONS CARRY EQUAL MARKS. ANSWERS TO BE WRITTEN IN 750-

1000 WORDS

Q.1 Examine the relationship between Karna and Kunti in The Temptation of Karna.
Elaborate upon the theme of politics and filial love.

Q. 2 Discuss how Vasantasena’s Ornaments play a dramatic role in the plot and action of the

play, The Mrichchakatika.

Q.3 Examine the role and function of Sakuntala in the two ashrams portrayed

in Abhijnanasakuntalam.

Q. 4 Comment on the theme of Chastity and Justice in The Cilappatikaram with reference to

the cantos studied by you in the course.

Q.5 Discuss any two Rasa and illustrate from the plays studied by you.

Q.6  Discuss the main features of akam and puram poetry with suitable examples from

Tamil Sangam poetry/epic.
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ol & fu smaxgs e :

(@) FAXaT & qq T4 Bl 3BT Ve TH7 BT TIRT B3 1
(%) B 741 & lp5] TR 741 TR @ 1

() GIF T4 18.75 3l BT &I 1

1. YRIU YT-uRaR &t Yiwisi &1 Sféed afveg e
2. 3ffehid 9 aeemd § iRl & fasra ot fRyfad Ty Sifsr |
3. TEat Ut o & Td IuD! siferl b1 i ulag i |

4. B & ofed YR &Y & WF Hifv |

5. QoI oIt & 701 T Il T fadee BIfeT |

6. QoI Tl & Ae IR0l & fafdy gei o J&mr sifey. |




Unique Paper Code: 12311103
BA Honours Core Course I Semester I

History of India- I

Instructions for Candidates
Time: 3 Hours Maximum Marks 75

9T 3 e arferay % 75

Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

TH TSI T IAL AUl AT [Beat el U a7 # o, Afene it ST T ATeqT U @f g1
=fgul

Attempt any three questions in all. T A T )

All questions carry equal marks. asft T o 3T TJH B

1. Examine the significance of archaeological sources for the study of Ancient Indian
History. What are the scientific methods used to date artefacts?

IT= I AT S(AgTE & FLTAT H [T SIdl & Hged Hl TLEA Hiforu|
qeTdTieass Sunt it fafer FMafor & e Sefas agfaet &1 =T frar smar 82

2. What is Pre-history? Underline the salient features of Palaeolithic cultures of India.

TTITARTE FT 82 WA i QRIATIT9T Heh a1 o [AT0E qeA0 il T@ifehd He

3. Analyse various theories related to the origin of Harappan Civilisation.

ZETUT YT T Ieqt & gratea fAateas frgiar w1 &g fifm)

4. Write an essay on agriculture, craft production and trade of the Harappan Civilisation.

T F¥AT T F, FAT ITTe TAT SATI I UF oF forfau)

5. Discuss the socio-economic condition of northern India during the Rigvedic period.

FIA e T oF QI ITL AT I ATHTITR-ATF qrefeqfa=t & fere=mr fiferm)

6. Assess the significance and geographical spread of Megalithic cultures of India.

ATEA 1 AGTATITO HER (AT o Hged 3T W [eedq T &l o hitorT|




Unique Paper Code: 12311104—Set A
B.A. (Hons.) History | Year Repeaters -- Semester |
Social Formations and Cultural Patterns of the Ancient and Medieval World

Time: 3 Hours Maximum Marks 75

Answers may be written either in English or in Hindi; but the same medium should be used

throughout the paper.

39 FeA9T FT 3N 4t Ir Rl B ve smar & HAT dfea @t IIRY FT ATeIH
v & glar aiRT 1

Attempt any three questions in all. Feol T oA AT

All questions carry equal marks. Tt et & H+H gHEIET &

1. Give an account of cultural adaptations that were important for human evolution during the
Pleistocene epoch.

WIRCIRA T & SR A4 & b & e Agayul TR fad uRadHi & [darur < |

2. In what ways did the Mesolithic adaptations contribute to the emergence of settled farming
communities? Discuss, in detail.

YT 3Ha A fhd TR R $iY el & 3wd J arrer faar fawaryul =t
CHISIY

3. Examine the origin, and features, of food producing economy in South West Asia.

<feror ufym TR § 9re Idte AUa®IT & UR™ d TN T uiefu) Hifu |

4. Review the different aspects of food producing economy and society on the basis of sites in
South-West Asia and Europe.

G feror-ufEy TR Ud gR19 8§ Ri@l & STUR W WTe Idie IEawl iR 96T o fafts
gqsl &1 gHlen siferl|

5. Analyze the nature of economy, state formation, and society, with reference to any one of the
following Bronze Age Civilizations:

(a) Mesopotamia (Up to the Akkadian Empire)
(b) Egypt (Old Kingdom)
(c) China (Shang)




S i Fugarsh & J foedl e & ded § srfcaw, I8 769 aUT JHS & UHhid B
fagaiyor

(@) TSR (3BT HIHT ddb)

@) iy (Q 9r)

() I (=)

. Explain the advent of iron technology and its significance in transforming early societies.

IR Trel &1 uRafdd H3 § <ig Mefiet & SMTH= 9UT He<d &1 Wy Hifv|



Unique Paper Code: 11011108

Name of the Paper: Introduction to Media and Communication

Name of the Course: B.A. (Hons) Journalism course (English) under LOCF 2020
Semester: |

Duration: 3 hrs+ 1 (one hour reserved for downloading of question paper,scanning and
uploading of answer sheets)

Maximum Marks: 75 Marks

Instructions for candidates

Attempt any three questions.
All questions carry equal marks.
Each question carries 25 marks.
Answers to be written in 750-1000 words
Write your University Roll No., Name of Course & Title of the Paper on your answer sheet.
Sign at the bottom of each page of your answer sheet

Q1. Fake news and rumours are a significant part of the news media content today. Critically
evaluate the statement in the light of all-pervasive social media.

2. Critically analyse the conceptual framework of media as a constituent of the public
sphere in liberal democracies. Illustrate how this concept offers an understanding of
media as a critical force in democracies.

Q3. Explain Mass Society Theory. Elaborate on the factors responsible for its emergence.
How useful is the mass society framework to understand media today?

Q4. Does television content mirror social reality? Discuss with reference to
Cultivation Theory and media representation of violence.

Q5. Discuss the performative aspect of the Ritual Model of communication. How relevant is
this model in understanding communication?

Q6. The panel discussions on primetime Television tend to perform the role of an agenda-
setter keeping in mind the political campaigning. Do you agree? Discuss with relevant
examples.
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UMY FHerd 81 SUHT SIshHidh [y |

Answer may be written either in English or in Hindi; but the same medium should be used throughout

the paper.

Y YT BT IR Had SRl yaT feel H ford afs Had T gt HINT BT U] &1

Attempt Any four questions. All questions carry equal marks.

frerar Ul & IR o | gt Ul & sis I © |

1. Answer the following:

ffeiad o IR <iford -

(a) Explain how a sentence is different from a proposition.

T HX b T a1 ufemadt ¥ Ha fiT g |

(b) Deductive arguments are either valid or invalid, whereas inductive arguments are
probable. Explain.

frTeTe gfdaa au Bt € a1 sy Safes SIS gfaaar WU gl & | SRe B

(c) If an argument contains false premises and true conclusion, will the argument be
valid or invalid? Discuss in the context of truth and validity.

I U gfad & 3 SMyRaTed SR 9 fswd ¢, ol I8 gfad 94 § a1 3/dy 2 Fedl
IR Ay e A faaa & |

(d) Distinguish between an argument and an explanation? State with examples.

gfad SR e § U $Ifo’ ? 3egRYl Aled Sarl



2. Answer the following:
et F3av e

(a) Every general or class term has both an intensional meaning and an extensional
meaning. Explain with examples.

ST ATHTT AT 97 9168 T U O 3T U fAger ord grar g1 Sarew Aatga
FTEAT F |

(b) Describe the multiple functions language performs. Which function of language is
the primary concern of logicians?

STTOT 3 Ao FTAT T FOT Y | ATT 7 FI9 GT F1F THITEEIT 1 ITaHF
Farar e g |

(c) Name different types of definitions. Explain any two types of definition.

e YR &1 URHTYISH & 19 51 | fH=g! & 1 TR B |

3. Answer the following:
affea F 39w T

a) I. State the obverse of “No members are non-voters”.

Fle HIT o AAGTAT Agl g * &0 Tideaq < |

ii. State the contrapositive of “All voters are non-members”.

gt AdeTaT e § ' BT UfquRad < |

b) If All writers are politicians’ is true, what can be inferred about the truth and falsity
of the following propositions:
g @t e AT § 9 7, d efafad uforafirn &t o ok saar b IR 3
HT STHT T T YHhelT @ -

i. Some non-politicians are not non-.writers.
$S 3 AT A AP Tol ¢ |

ii. All non-writers are non-politicians.
Tt 3f AH SIS G |

c) Discuss the Problem of existential import.

AT dIdd ot GHTT B! fAATAT B |

4. Test the validity/invalidity of the following using Rule Method:
argfad @t fom gl gr1 Feafea gfeaadt &1 duar /srdudn afkeror FHifore:
i. AAO-4
i. EOI-2
iii. EAO -1
iv. 1AlI-3



5. (a) Reduce the following into their standard syllogistic form and test the validity/invalidity
by Venn Diagram technique:

fefaRad &1 A% = giad sMeR & uRafdd @xd gu 9+ onefd fafd gy
YT / ST THE0T X :

Q) All tomatoes are fruits. Some vegetables are fruits. It follows that some vegetables
are tomatoes.
qT THTET T gl TS AlooldT Ff gl Tg AT d gral g T T Aiesdr eqe Bl
(i) No fanatics are rational since all obsessive people are fanatics and no obsessive
people are rational.
FTE Fg Lt TheATd Al § A Tft ST AT hgeaeT § o7 Fr off ST
RN THETT 5l 2|

(b) Prove the following:

et =1 arfaa w3

(@) In avalid categorical syllogism if both the premises are affirmative, the
conclusion cannot be negative.
U ey fReuTias = gh F I AT S AT TR §, af ey
THTLTCHF A1 Bl T |

(b) If one of the premise is negative in the second figure, the major premise must be
universal.
T3 AT AT/ TF ST ATFT TRLHE 2, a7 TCT AT AT T gi

T |

6. Explain and illustrate any three informal fallacies.

oo

vl T STHITATILE Tl hl JIETI ST Y |




Name of the Paper: Indian Philosophy

Unique Paper Code: 12101101

Name of the Course: B.A. Hons Philosophy
Semester: | -CBCS

Time: 3 hours MM:75
Attempt all questions. All questions carry equal marks.
You can answer questions either in English or in Hindi, but the same medium should be
followed throughout.
1. Discuss the common characteristics of the Indian philosophical schools.
AdE 3w i e geamt F g n # e i
Or,

Discuss the Upanishadic nature of the Self with special reference to Isha Upanishad.
AqATE AT F wEET |, v Sar ufAug F Al # fEeeer Sk

Discuss the main features of Carvaka school of Philosophy.
FmatE I F qed el ft fFeEar fivy

Or,
Critically discuss the Jain doctrine of Syadvada.
S AT F TTEATE A e EATHE T fifr

2. Elaborate on Sankhya theory of evolution.
e T99 F aqa Sz4 (evolution) FF =TEAT Fic

Or,
Discuss the debate between Satkaryavada and Asatkaryavada.
TehTdaTe qa7 JqchEars & are f@are ft fFe=ar fifvy

3. Explain the nature of Brahman according to Shankara.

9T F AIAR FARE F TEAET H ATEAT Hlfod
Or,

Discuss Ramanuja's critique of Shankara's notion of Maya.
TS F AqA T il JAT &l FGIROT 6 SasAdr=ar &7  Fa=d i

4. Write short notes on any two of the following:
a. Four Noble Truths.
b. Ramanuja’s concept of Ishvara.
c. Sankhya concept of Purusa.



d. Mimamsa nature of knowledge.

el a1 ox dferm fequofy i -
) AT 9 g
) TETS AT AT HT ATLTOM
) AT F TET [ TTETOT
T) HEMET F AW F T
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SH TAYT T 33 el a1 f@ar fohdl e st A QST wifeher T8l 3Rt 1 AreI
T & glar a1fgul

Attempt Any Four questions.
All questions carry equal marks.

fopegl I wRal & 33X SIS
I g2t & 3k AT 2

1. Examine the role and contribution of the Constituent Assembly in framing the Indian
Constitution.

AR Eiaurel & Ao & dfdus @ & oA 3R AerereT r odiefor
iRl



. Analyze the importance of the directive principles of state policy.

T Aifa & [des @uear & #Agcg &1 [Aevor Hifed |

. Evaluate the role and function of the Lok Sabha. Do you think the nature of its
representation has changed in recent decades?

itk | hr S{fHeRT 3R YAl T Hedlehel HIfTA| AT 3T Ig AT ¢ [
g & aul # 3@e Uldfdfcd & Scora 3T 87

. Critically examine the role of the Prime Minister in the Parliamentary system.

TS GoTell & TITHAT 1 $fAHT & eraelcAs g{eror Hifad|

. What are the achievements and shortcomings of the Panchayati Raj system in India?
Explain the salient features of Panchayati Raj in India since 73 amendments of the
constitution.

HRT H TIrId Uo7 IaEdT i 3uanfesar 3R wiaar #ar §2 gfeus & 733
TWMUT & §c T ARG H JaIdY TSl IIeAqT &l JHE faASdr3it Fr carear
o

. What are the major emergency provisions of the Indian Constitution? Discuss the use and
abuse of emergency powers.

HRAT HIAUT & JHE HUIchlelll YUl a1 87 3MaTdehiels fFadr &
3YANET AR g&UEET @ fadwe Hife|



Unique Paper Code : 12111104

Name of the Paper C-PSY-02 Statistical Methods for Psychological Research - I
Name of the Course : B.A (Hons.) Psychology

Semester : I

Duration : 3 hours

Maximum Marks : 75

Instructions for the candidates:

BEl & fay fAder:

a) Answer any four questions.

ot Y IR oAt & S| ST

b) All questions carry equal marks (18.75 marks each).
T goAT & FH 376 & (18.75 31 YAb) |
c) Answers may be written either in English or in Hindi, but the same medium should
be used throughout the paper.
IR 3t a1 @t H o <1 gehd €, <ifdT O o T B AT BT SUANT T ST
BlIEY
d) Calculators with simple arithmetic functions are allowed.
IRA BT PrAT aTet Perdgerey Pl 3TFAT B
e) Statistical tables and graph paper can be used to attempt the question paper.
Uo7 U &l YA B & g HifSdDhI St 3IN U1 U b1 3UANT febdT ST Hebdl
gl

Q1. Define measurement and throw light on the different scales of measurement. Using the
grouped data given below, (i) calculate Py, (i1) calculate Percentile Rank for a score of 66, and

(ii1) construct a frequency polygon.

HTT BT YRITIST B 3R A9 & fafi= SAMT o geprer rel | e AU 77 THgiad Ser ol 3uan
XA §Y, (i) Pao BT TUHT Y, (i) 66 & FBR & g Ufderd ¥eb &bt U1 & 3R (iii) Teb 3TTgfd
gl T (HT0T B |



Scores
85-89
80-84
75-79
70-74
65-69
60-64
55-59
50-54
45-49
40-44
35-39 1
30-34 2
25-29 1
N=40

BN | ] B ] O BN N .

Q2. Describe the various measures of central tendency. What are the conditions in which mean
and standard deviation are best suited as measures of central tendency and variability
respectively? Calculate mean, median, mode, range, and standard deviation for the scores given

below.

DT Ygfd & fahi=1 3ural &1 auf 3| fos7 uRfeeifaal & area 3R 9 faae waen: B
ygfd 3R uRadaefaar & Ul & 39 § Ja9 3ugs 2 9 Ry 0 siel & fog A,
AT, Als, AUt 3R AFG fdererd bl TUHET B |

33,34, 34, 36,47, 28, 30, 24, 39, 34, 46

Q3. Discuss the characteristics of the normal probability curve. Given that a population of
scores is normally distributed with a mean of 125 and a standard deviation of 12, calculate the
score limits for the middle 68% of the values. For this data, if Anya obtained a score of 129,

what percentage of students scored lower than Anya ?

TTHIRT GITEAT <Ieb T fARIT3Ht o) =it 63| I8 Quid gy fdh TR <l TGSl bl JH $9 4
125 3R 12 & AP fderet & dref fddd fBam ST 8, 767 68% A & {6y TpR HHY bl



O] Y | §H 5T & Iy, IS 37T 7 129 T WbR TG feba, df febd wfderd B 4 31=m 4
&H 37 T fehg?
Q4. Using scatter diagrams and suitable examples, explain the meaning of direction and degree

of correlation. Comment on the assumptions of the Pearson’s correlation coefficent and find

out its value for the following set of data.

AR faiaR fo 3R 3Ugh 3TN BT 3UYNT &d §Y, Tedatl Pl {2 37 fSUT T 31ef oy |
Ui & Hewey uTics B! ATIar3t W fewult ¥ 3R a1 & FAmfafad de & fdv sus g

BT IdT 7 |

X Y
15 18
16 11
12 10
10 20
8 17
11 19
7 14

Q5. What are standard scores? Examine the characteristics of z scores and compare them with
percentile ranks. A person scores 78 on a test of verbal ability and 85 on a test of quantitative
ability. For the verbal ability test, the mean is 60 and standard deviation is 10. For the
quantitative ability test, the mean is 75 and standard deviation is 15. Which is this person’s

stronger ability: verbal or quantitative? Explain.

AP WPR AT 82 Z TR Bl fAAWArsit &Y Siier &y 3R 37T g1 Hfderdeds Il & a1 T
fth AfE® &HdT & UT&T0T W 78 31X AETHS &HdT & U107 TR 85 IBR &dl g | HifEd

&MHdT TRty & fAT, ATed 60 & 31K AP faaa 10. AETHE &HdT WIUT B folv, ATeT 75 &

3R AP fdeet 15. 9 HAfh BT HSTgd &HAT AT &: A& T ATATHD ? T B |



Q6. Is it possible to draw a correct statistical conclusion yet reach an incorrect research
conclusion? Explain your answer. Discuss the effect of score transformations on standard
deviation and variance. Find Spearman’s correlation coefficient for the following data by

converting it into ranks.

RIT AE AIABR fsBs FAbTerT Ta B, O 1 Teb T 2 fspy das Uga AapeT &2 39T
STATg U0 | AMG fdgad 3R fderor R R uRadal & T R @i &3 | fAAfafead ser
BT ¥ # URafdd e TRRAT & TedeY oTid BT Ial iy |

16 (20 [14 12 17

Y 9 7 8 4 6
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Instructions for Candidates:

1. Write your Roll No. on the top immediately on receipt of this question paper.
TH - o [Hed gt S9% XU T S0 9% (04T TR fofau)

2. Answer any three questions.

freal oot % 3T ST

3. Answer may be written either in English or in Hindi but the same medium should be used
throughout the paper.

TH WF-TF HT I SAUSH AT (Bl helt T AT § SITS10 oA Tohed AHT I 07 ATEAH TF
& 2T AR Ul

4. All questions carry equal marks.

AT T % 31 qH1 2



SETA

Elaborate on the Sociological perspective for understanding society.

HHTS T GHS & TIT FATSIRMET IRUET R A& =l |

. Examine the relationship between Sociology and Social Anthropology
FHTSTITE 3R ATATTSIR T Ta=1TeT o srer Hereit &y Siier vl

Discuss social change as a theoretical concept.

| T Bgifcish ITTURTT & T H AT IR W T |

. What do you understand by ‘groups’. Examine the relationship between individual and
group.
TG A Y T FHSI §? ST 3R FHE o o Haer by el vl |

. Culture is an integral part of society. Comment.
T FHATS 1 3ot 371 ¥ | feoaofy &Y
Write an essay on Social institutions.

AT GEAT3HT IR U e o |
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Semester/Annual o

qHE/artie ol

Duration : 3 +1 hours Maximum Marks : 75

T 3+1 T e - 75

Instructions for Candidates:

1. Write your Roll No. on the top immediately on receipt of this question paper.
TH -9 o THAd & S0¢ QT 0 S 92 (9497 SAqHA ()

2. Answer any three questions.

freal T % I <ol

3. Answer may be written either in English or in Hindi but the same medium should be
used throughout the paper.

TH WF-TF AT I SAUSH AT (Gl helt T AT § SIS0 oA Tohed FAHT I 07 ATEAH
e &1 T e

4. All questions carry equal marks.

T T % 37 TH B




SETB

1. What are Gandhi’s views about Indian Civilization?

RIS aR AT oh [ aRFTg ?

2. Write an essay on the composite culture of Indian society.
f ; - eI 1
(&
3. Analyse the nature of agrarian classes in India

HRAHR YA hIIR [ ThTILATOTHRY |

4. Has the project of development been effective in addressing the problems of tribes in
India? Discuss.

FATHRAH TS A P T HEIT T THTTTH AT h T RATSTATTHTERE 18 ? TaTh |

5. Explain the various shifts in the conception of Indian village studies.

R aeh 3T TTDI TR UTH [ TR esTscora i aaareny |

6. Describe how Sikhism manifests renunciation of renunciation. Give suitable examples.

AU Gt feh H R g H I TTh AT T | SUIFISAGR TG T |
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throughout the paper.

3H T2AYT T 3% 3o a1 @S Tl e e & ifST aifeher Tl 3Rt 1 At H
T & glar a1fgul

Attempt Any Four questions.
All questions carry equal marks.

fopegl I wRal & 33X SIS
I g2t & 3k AT 2

1. Do you think, understanding of power is essential for understanding politics? Give
reasons for your answer.

FT 3T Arad g & TSefd aF GAsta & fou afda $r gAsT 3magw
& 3T IR A i # aF QS

2. Analyze normative and empirical approaches to Political theory.

ToTeilicieh AT & HIThT 3R TTeraseleh SUNETAT S fARAN0T HIfAT|



Discuss Marx’s views on alienation. Is it relevant today? Give reasons.

3 & Ay W AT & fgart  $r fagger fifew) #r 3 fGar 3
#r grafes &2 a& §fST
. What is libertarianism? How is it different from welfare liberalism? Explain.

TATSITIAIE, FAT 8§72 FedIVeRT 3eRdie ¥ I8 g R e &7 =arear
HifaT)

Discuss various schools of feminism.

ARare & fAffee foarR-aegl (Fhel) 1 fad=e=r Hifs)

. Write an essay on the idea of political community.

TSteiifceh T i 4Rom R T ey faf@u)



